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N.B: MATLAB mobile was used in the solution of the
Assignment V given on the 29t of April 2020



QUESTION 1:




QUESTION 1(CONT’D):




QUESTION 1C:

MATLAB Drive Published Nnumber2.m
1 commandwindow

2 clearvars

3 clc

4 close al'l

=

6 syms m(t) t

7 eqgqn = diff(m,t) == (504+50F*sin(t))-0.025*
8 cond = mMm(O)==150;

9 mSol(t) = dsolve(egqn, m(0)==150)
10 £t = 0:0.5:450;

11 pLot(t, mSol(t))

12 xLabel (' Time(hr) ')

13 yvylLabel (' Amount of substance(lb) ")
14 grid on

15 grid minor
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Figure 1: number2
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QUESTION 2:

MATLAB Drive questiontwoa.m

1 commandwindow

2 clearvars

3 clc

4 close all

5syms yl tl

6 y(tl)=(1000)+(50/1.0025)*sin(t1l)+((50*0.05)/1.0025)*cos(t1)-802.49*exp(-0.05*t]1)
7 tl = 1:2:499

8 xlabel('Time values(min)"')
9 ylabel('Litre")

10 plot(tl,y(tl))

11 grid on

12 grid minor

- S Figures SHOW DATA CURSOR

Figure 1: questiontwoa
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MATLAB Drive questiontwob.m

1 commandwindow
2 clearvars

3 clc

4 close all

5

6 syms y2 t2

7 y(t2) = 1000-800*fexp(-0.05*t2)

8 t2 = 0:2:500

9 xlabel (' Time values(min) ')
10 ylabel('Litre’)

11 plot(t2,y(t2))

12 grid on

13 grid minor
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Figure 1: questiontwob
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MATLAB Drive questiontwocombine.m

4 close all

5syms Y1 T1 yl y2 t1 t2

6 y(t1)=(1000)+(50/1.0025)*sin(t1)+((50*0.05)/1.0025)*cos(t1)-802.49*exp(-0.05%t1)
7y(12)=1000-800*exp(-0.05*t2)
8 t1=1:2:499

9 t2=0:2:500

10 T1 = [t1,t2]

11Y1 = [y(t1),y(t2)]

12 xlabel('Time values(min)')
13 ylabel('Litre")

14 plot(T1,Y1)

15 grid on

16 grid minor
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Figure 1: questiontwocombine
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QUESTION 2C:

Sunday.m 0 rﬂ

:
1 commandwindow
2 = clear
3 — clc
4 - close all
= syms YT yl y2 tl t2
(s y(tl)=(1000)+(50/1.0025) *sin(tl)+((50*0.05)/1.0025) *cos (tl)-802.49%exp (-0.05*cl)
P = v(t2)=1000-800*exp (-0.05*c2)
8 — Tl=1:2:499
0 1= t2=0:2:500
10 — T = [t1,t2]
Il = Y = [v(cl),v(c2)]
2 = xlabel ('t (mins) ')
13 = ylabel ('V(licres)')
14 - plot (T, Y)
kS| == grid on
16 — grid minor
19 = Rows_Cols={'ct (mins)','V(licre)'}
18 — xlswrite ('odevbesdata.xisx',T(:), 'veriler','A2')
19 = xlswrite ('odevbesdata.xlsx',Y(:), 'veriler','B2')
20! = xlswrite('odevbesda:a.xlsx',Rows_Cols, ‘veriler','Bl')
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